October 24, 2012

3.5 Derivatives of Trigonometric Functions Day 2
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y = sin X y' = CcOoSs X
y =COS X - ' = -sin X
y =tan x y' = sec?x
y = Sec X y' = sec x tan x
y = CSC X '=-csc x cot X
y = cot X y' = -CSC2X

Find the derivative of each.
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Ex 3) Which of the following is an equation of thi_“
normal line to y = sin X + cos x at x = 17 | | J
= SNTCoST) = 0 - 1)

Ay=-x+m-1 = Coby - SinX
By=x-m-1 = QOSTT- SinT]
C.y=x-m+1 - -] _
D.y=x+m+1 { O
Ey=x+m-1 = (=M gt
- dl
Y11=16eTrY é‘\m’v"’"‘
Y=x-ir- ﬂ;l)
h. v

Ex 4) Find y"ify =Xsin x

A. -X sin X
B. X cos x + sin X
C.-xsin X + 2 cos X

D. x sin x
E. -sin x + cos x
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Ex 5) Abody is moving in simple harmonic
motion with position s = 3 + sin t. At which
of the following times is the velocity zero?

S':\l-: (‘oS{: 0
A.t=0
B.t=1/4
@T:Tr/Z \
D.t=m

E. none of these J%.
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Pythagorean Idgntities
CO5 % + S5in x = |
Coti+ | =CaPx

[ T tanix=Secx




